
 

 
 

1 

Instituto Tecnológico de Nogales 

 

 

 



 

 
 

2 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 

 

 



 

 
 

3 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 
 

4 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 
 

5 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 



 

 
 

6 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 

 

 



 

 
 

7 

Instituto Tecnológico de Nogales 

 

 

 

 



 

 
 

8 

Instituto Tecnológico de Nogales 

 

 

 

 



 

 
 

9 

Instituto Tecnológico de Nogales 

 

 

 

 



 

 
 

10 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 

 

 



 

 
 

11 

Instituto Tecnológico de Nogales 

 

 

 

 

 



 

 
 

12 

Instituto Tecnológico de Nogales 

 

 

 



 

 
 

13 

Instituto Tecnológico de Nogales 

 

 

 



 

 
 

14 

Instituto Tecnológico de Nogales 

 

 

 



 

 
 

15 

Instituto Tecnológico de Nogales 

 

 

 



 

 
 

16 

Instituto Tecnológico de Nogales 

 

 

 



 

 
 

17 

Instituto Tecnológico de Nogales 

 

 

 



 

 
 

18 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 



 

 
 

19 

Instituto Tecnológico de Nogales 

 

 

 

 

 (𝑥 −

6.40) (𝑥 − 3.90) (𝑥 − 0.90) (𝑥 + 0.35) (𝑥 + 1.10) ( 𝑥 + 2.10) (𝑥 + 3.60)(𝑥 + 4.10)

𝑥

 

 

 

 

 



 

 
 

20 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 𝑓(𝑥) = −𝑥 + 2, 𝑔(𝑥) = 𝑥𝑦ℎ(𝑥) = 6

 
(𝑎2𝑏𝑐)3

 (𝑎3𝑏−2𝑐−1)2

 √8 
3

√1280

 

 (
3𝑥2+2𝑥

𝑥−1
)

 



 

 
 

21 

Instituto Tecnológico de Nogales 

 

 

 

 
4𝑥+4𝑥+1

6𝑥2−𝑥−2

𝑥

 

 

 

 

𝑎 = 2



 

 
 

22 

Instituto Tecnológico de Nogales 

 

 

 

 

 

𝐶𝐸

 

𝐶𝐵

𝐷𝐵



 

 
 

23 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 

 

 

 

𝑎 − 𝑏



 

 
 

24 

Instituto Tecnológico de Nogales 

 

 

 

 𝑥 𝑙 𝑚 𝐴𝐵 𝐴𝐶

 

 
26

30

5

6

10

12

17

20

26

30
 

 

 

 

 

 

 𝑑𝑚

 



 

 
 

25 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 
 

26 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 

 𝑚 𝑠

 

 

 

 

 



 

 
 

27 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 

 

 

 

 

𝑥 𝐶

 

𝑥



 

 
 

28 

Instituto Tecnológico de Nogales 

 

 

 

 𝑥 𝐶

 

 

 

ρ

ρ
𝐿

𝐴

Ρ

 



 

 
 

29 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 

 

 

 

 



 

 
 

30 

Instituto Tecnológico de Nogales 

 

 

 

 

77.22𝑥106

282𝑥102

 

 

 

 

 

 

 

 

 



 

 
 

31 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 



 

 
 

32 

Instituto Tecnológico de Nogales 

 

 

 



 

 
 

33 

Instituto Tecnológico de Nogales 

 

 

 

 



 

 
 

34 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 
 

35 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 →

 →

 →

 →

 →



 

 
 

36 

Instituto Tecnológico de Nogales 

 

 

 

 

→

 

 

 

 

 

 

 

 

 

 

 

 



 

 
 

37 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 
 

38 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 

 



 

 
 

39 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 

 



 

 
 

40 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 



 

 
 

41 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 𝑥

𝐴: 2𝑥 + 3 𝐵: 7𝑥 − 1 {
2𝑥 + 3
7𝑥 − 1

2𝑥 + 3 = 7𝑥 − 1 𝑥 = 4
5⁄

2(4
5⁄ )



 

 
 

42 

Instituto Tecnológico de Nogales 

 

 

 

 

 

10 (
−𝑥

3
)

3

(
3

5𝑥2
)

2

= 10
(−𝑥)3

33
∗

32

(5𝑥2)2
=

−5 ∗ 2

32 ∗ 3
𝑥3 ∗

32

5 ∗ 5𝑥4
=

−2

3
∗

1

5𝑥
=

−2

15𝑥
 

 
(𝑎2𝑏𝑐)3

(𝑎3𝑏−2𝑐−1)2 =
𝑎6𝑏3𝑐3

𝑎6𝑏−4𝑐−2 = 𝑎0𝑏7𝑐5 = 𝑏7𝑐5

 √8
3

√1280 √233
 √28 ∗ 5 2√28 ∗ 5 = 2 ∗ 24√5 =  25√5 = 32 √5



 

 
 

43 

Instituto Tecnológico de Nogales 

 

 

 

 

 

( )
2

3𝑥2 + 2𝑥

(
3𝑥2+2𝑥

𝑥−1
)

2

 

𝑐 +
3

5
𝑥 +

𝑥2

2
+ 4𝑥2 = 𝑐 +

3

5
+

1

2
+  4

𝑐 = 𝑐𝑥0



 

 
 

44 

Instituto Tecnológico de Nogales 

 

 

 

 
4𝑥2+4𝑥+1

6𝑥2−𝑥−2
=

(2𝑥+1)(2𝑥+1)

(2𝑥+1)(3𝑥−2)
=

(2𝑥+1)

(3𝑥−2)

𝑔(𝑥) =
(2𝑥+1)

(3𝑥−2)

3𝑥 − 2 = 0 𝑔(𝑥) =
(2𝑥+1)

(3𝑥−2)
𝑥 =

2

3

 𝑥

𝑥 = 650 + 0.20𝑥
𝑥 − 0.20 = 650

0.8𝑥 = 650

𝑥
650

0.8
𝑥 = 812.50 𝑝𝑜𝑟 𝑙𝑜 𝑡𝑎𝑛𝑡𝑜 𝑒𝑙 𝑝𝑟𝑒𝑐𝑖𝑜 𝑑𝑒𝑙 𝑣𝑒𝑠𝑡𝑖𝑑𝑜 𝑒𝑠 𝑑𝑒 $812.50

 𝑇1 𝑇2 = 200𝑚

𝑃𝑇1 = 400𝑚

𝑃𝑇2 = 200𝑚 

⇒ 𝑃𝑇1 + 3𝑃𝑇2 =

𝑎 𝑎 = √𝑐2 − 𝑏2 𝐴𝑇1 

𝑇



 

 
 

45 

Instituto Tecnológico de Nogales 

 

 

 

 



 

 
 

46 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 

 



 

 
 

47 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 

 



 

 
 

48 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 𝑥

16𝑥2 + 2𝑥 − 35 < 2𝑥 + 65
16𝑥2 + 2𝑥 − 35 − 2𝑥 − 65 < 0
16𝑥2 − 100 < 0
16𝑥2 < 100

𝑥2 <
100

16

𝑥 < ±
100

√16
= ±

10

4
= ±

5

2

−
5

2

5

2

(𝑥/𝑥 ∈ (−
5
2

,
5

2
))

 

5

6
=

22 + 1

22 + 2

10

12
=

32 + 1

32 + 3

17

20
=

32 + 1

32 + 3
26

30
=

52 + 1

52 + 5

1 =
12 + 1

12 + 6
=

2

2

62 + 1

62 + 6
=

37

42



 

 
 

49 

Instituto Tecnológico de Nogales 

 

 

 

 

𝑉1 =
𝜋𝑥215

3
= 45𝜋 𝑦 𝑉2 =

𝜋𝑥(3.5)2 − 𝑥13

3
= 53.08𝜋  

> ℎ

45𝜋 =
𝜋(3.5)2ℎ

3
ℎ =

45𝑥3

(3.5)2 = 11.02𝑐𝑚



 

 
 

50 

Instituto Tecnológico de Nogales 

 

 

 

 



 

 
 

51 

Instituto Tecnológico de Nogales 

 

 

 

 

 

 

 

 

 


